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mA 82 mA 82 mA [ mA [
391 900M| 1,800MH| 800HM| 1,600MW| 700M| 1,400MW| 600M| 1,200M
22m1| 1,350M| 2,700M| 1,200M| 2,400M™| 1,050M™| 2,100M| 900M| 1,800M

B1AF=E
39n2| 1,800MH| 3,600MW| 1,600M| 3,200M| 1,400M| 2,800M| 1,200M| 2,400M
<@ | 2,700M| 5400M| 2,400M| 4,800M| 2,100M™| 4,200M™| 1,800M| 3,600M
BoFEE=E <mH| | 1,100M| 2,200M| 950M| 1,900M| 900M| 1,800M| 800M| 1,600H
BIFB= £H 600M™| 1,200”| 500M| 1,000M| 450M™| 900M| 350H| 700HM
257301 500”| 1,000”| 450M™| 900M| 350M| 700M| 300H| 600M

B1HXEER
<m | 1,000M| 2,000M 900M| 1,800M| 700M| 1,400M| 600M| 1,200M
257301 500”| 1,000”| 450M™| 900M| 350M™| 700M| 300H| 600M

B2 EIE
<m | 1,000M| 2,000M 900M| 1,800M| 700M| 1,400M| 600M| 1,200M
27301 500”| 1,000™| 450M™| 900M| 350M™| 700M| 300H| 600M

5EiR
<m | 1,000M| 2,000H 900M| 1,800M| 700M| 1,400M| 600M| 1,200M
4991 4,500M| 9,000M| 3,750M| 7,500M| 3,450M| 6,900M| 3,300M| 6,600M
50m |(29%®»1| 9,000M|18,000M| 7,500M|15,000M| 6,900M(13,800M| 6,600M|13,200M
BK7T=N <m 18,000M|36,000M|15,000M{30,000M|13,800M|27,600M{13,200M {26,400
2»1| 1,500M| 3,000M| 1,200M| 2,400M™| 1,100M| 2,200M| 1,050M| 2,100H

20m
<mH | 3,000 6,000M| 2,400M| 4,800M| 2,200M™| 4,400M| 2,100M| 4,200H
T
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" ER#
X5 H (i =0 =5
A A—1 1056 1,200 2,400H
SE=E A—2 [= 600M 1,200H
B [ 400M 800M
B 5 O B1FBE=E = 400M 800H
BRK7-=I [= 400H 800H
e B1HE=E 1H1[E—= 1,500H 3,000
i BIK7T—=I [ 6,000 12,000H
JEE (B1FEE) 1814& 2,400 4,800M
B1FE=E 1056 7,200H 14,400M1
SIRE S R B 1REIS 7 500H 1,000H
B 2ERNIE IS 7 500H 1,000H
3901 100% 47| 105RS 700M 1,400H
50%5=4T| [A 350H 700H
25301 100%54T| [ 1,000H 2,000
] 1 hES 50% 54T [A 500H 1,000H
BRB R 35]2 100% 54T A 1,400M 2,800H
50%=4T| [q] 700M 1,400H
P 100% 447 [E 2,000 4,000
50% 54T [A 1,000H 2,000H
BKk7-)V | 2@ |[100%=57|  [6 1,000H 2,000M
- E

-HALR. FTHICEMREZRETZEIHZLNS,

-BEAEERMERRERICEITA2ESOVLITNATHRTIIESDEREID.

CORICEDBDERAFICENTNIEZRESICEDRIHUERUTRLEIHET S,

772U, BT - oM BHEREICOUVLTIR. BfleBNELEFIRIIR. BoHE,

(1) FERAEHAEFZEMNEL. HD. AIBEIFEHNTIIES 3
(2) EREHLIEFNZENETIH. ABHFEHRLEVMES 3
(3) FEAEAEFZEMELEVD. AMBHISEHINTIIES 2
O ESSHERH
%) B L]
e el e el B
fims

‘RICEITRFSOVIT MO THRIZES DL SR HEREI.
CORICEDZIERAFICTNTNIEZBSICEDIWERLUTHLIET S,

el BT —NCOWTIE, [RE O/, BBHEL,

EREHIEFZEMEL. HDO. AIBHF2HINTZIES 3
EREHNENZENETIH. ABHFEHBLLEWVES 3
EHEHEFZBEMNELEVD, AGEFEHINTIIES 2

(1)
(2)
(3)




